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B. SC. (HONOURS) BIOCHEMISTRY  
(BSCBCH) 

Term-End Examination 
December, 2024 

BBCET–141 : NUTRITIONAL BIOCHEMISTRY 

 Time : 3 Hours    Maximum Marks : 70 

Note : (i) Attempt any five questions.  

 (ii) All questions carry equal marks.   
 

1. (a) Identify the following bimolecules :   5 

(i) provide instant energy to the body. 

(ii) act as enzymes and provide immunity. 

(iii) helps in vision. 

(iv) fight against oxidative stress. 

(v) serves as universal solvent. 

(b) Describe the function and deficiency 
diseases of folic acid. 5  

(c) What are dietary guidelines for Indians ? 4   
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2. (a) Define the total energy expenditure. 

Explain its components. 2+5=7 

(b) How is blood glucose regulated by 

hormones ? 7 

3. State the biological roles of the following : 

4×31
2
=14 

(a) Zinc  

(b) Lipids 

(c) Vitamin B12 

(d) Vitamin D 

4. (a) Discuss the biochemical basis of deficiency 

disease associated with the Vitamin C  

and A.  2×31
2
=7 

(b) Describe the mechanism of Iron 

absorption. 7 

5. (a) What is atherosclerosis ? Explain the 

formation of a plaque. 2+5=7 

(b) Describe the interaction of psychoactive 

drugs with nutrients.  7 
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6. Write short notes on the following : 4×31
2
=14 

(a) Z-score 

(b) Neutraceuticals as functional foods   

(c) Obesity 

(d) Food allergy and intolerance 

7. (a) Discuss microbial contaminants in food. 7 

(b) Write a note on protein quality. 7 

8. Explain the following terms : 7+7=14 

(a) Role of dietary fibers  

(b) Iodine deficiency 
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      BBCET–141 

ch- ,l-&lh- (vkWulZ) tSojlk;u  

(ch- ,l-&lh- ch- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-ch-lh-bZ-Vh-–141 % iks"kkgkj tSojlk;u 

le; % 3 ?k.Vs     vf/dre vad % 70 

uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 
 

1- (v) fuEufyf[kr tSov.kqvksa ds uke fyf[k, % 5 

(i) 'kjhj dks rqjar ÅtkZ iznku djrs gSaA 

(ii) ,Utkbe dh rjg dk;Z djrs gSa vkSj jks/ 

{kerk iznku djrs gSaA 

(iii) n`f"V esa enn djrs gSaA 
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(iv) vkWDlhdkjd ruko ds fo#¼ yM+us esa enn 

djrs gSaA 

(v) lkoZHkkSfed foyk;d dk dke djrs gaSA 

(c) iQksfyd vEy ds dk;Z vkSj bldh deh ls gksus 

okys jksxksa dh O;k[;k dhft,A 5 

(l) Hkkjrh;ksa ds fy, vkgkj lEcU/h fn'kk&funsZ'kksa ds 

ckjs esa crkb,A 4 

2- (v) dqy ÅtkZ O;; dh ifjHkk"kk fyf[k,A blds 

?kVdksa dk o.kZu dhft,A 2+5=7 

(c) jDr Xywdkst fdl izdkj gkWeksZuksa }kjk fofu;fer 

fd;k tkrk gS \ 7 

3- fuEufyf[kr dh tSfod Hkwfedk,¡ crkb, % 4×31
2
=14 

(v) fta+d 

(c) olk 
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(l) foVkfeu B12 

(n) foVkfeu D 

4- (v) foVkfeu C vkSj A dh deh ls tqM+s jksxksa ds 

tSojklk;fud vk/kj dh O;k[;k dhft,A 

2×31
2
=7 

(c) ykSg (vk;ju) vo'kks"k.k dh fØ;kfof/ dk 

o.kZu dhft,A 7 

5- (v) ,FkjksLDysjksfll D;k gksrk gS \ Iykd ds fuekZ.k 

dh izfØ;k dks le>kb,A 2+5=7 

(c) eukslfØ; vkS"kf/;ksa dh iks"kd rRoksa ds lkFk 

ijLijfØ;k ds ckjs esa foLrkj ls fyf[k,A 7 

6- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4×31
2
=14 

(v) Z&Ldksj 

(c) fØ;kRed [kk| inkFkks± ds :i esa U;wVªkL;wfVdy  

(l) eksVkik 

(n) [kk| ,ythZ vkSj vlgu'khyrk 
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7- (v) Hkkstu esa lw{ethoh lanw"kdksa dh ppkZ dhft,A 7

(c) izksVhu xq.koÙkk ij fVIi.kh dhft,A 7 

8- fuEufyf[kr inksa dh O;k[;k fyf[k, % 7+7=14 

(v) vkgkjh; js'kksa dh Hkwfedk

(c) vk;ksMhu dh deh

× × × × × × × 
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